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10,000, 000& 10,000
206 M= Hl 254,000 251,000 3,000
01 =8l 254,000 251,000 3,000
O2=gIAMG(ZSARXH S)
600& x45,000=2 27,000
OZAZANZEAY TP 120,000, 000& 120,000
Ougttzt ZUiX« 2 107,000, 000& 107,000
401 Al HI L 2T 170,650 192,200 A21,550
01 A& Hl 150,000 170,000 220,000
OAL2Z33 AX3J , =128 & FHAY
150,000, 000& 150,000
03 Al 20 HI 20,650 22,200 A 1,550
OZAZ AT LAY EHLRZ
500,000& *403] 20,000
OA2ZB3 AIX3F , =XZd & FHAY
650,000& 650
405 TtHabF S| 3,000 6,100 A 3,100
01 XML = ZFH SH| 3,000 6,100 A 3,100
Oul=J & JIAs 8 #< 600,000& +5CH 3,000




AN =0
& TABHE JIBEY
ool TAZE Z8 Y 2 CERED
= _ — d =
A FB B (B) - HRAY - BES 0l &t o il Bl RE2
A NHEGHE ZatAatd 370,324 312,200 58,124
101 @14 Hl 149,544 101,000 48,544
04 JIZHHZ2XNEE S 149,544 101,000 48,544
Oud XHedsote HatArY R 149,544
-JlEs 50,0103 12 +151 90,619
X 50,010& x12F »7& 4,201
=54 50,0103 *x12H +31=F 18,604
- A gAY 80,000& x12H «7& 6,720
-AHEE =S 350,000 x 12«78 29,400
206 = Hl 40,000 40,000 0
01 M2 4l 40,000 40,000 0
Ot NHdotd Ay N2
40,000,000& 40,000
401 AIEHI L 2 CHYI 180,780 171,200 9,580
01 A& HI 180,000 170,000 10,000
Odd NHdold &0 2 =stF 2
105,000, 000& 105,000
Odd NHEGHE AlZEHI 75,000,000 75,000
03 AlE 2 THHI 780 1,200 A 420
Odld THEstd FatArd 780,000& 780
e GZH(SE=X1t) 38,960 0 38,960
dH(3¥ =X 1) 38,960 0 38,960
224 (S =X1) 38,960 0 38,960
201 ¢er24| 11,000 0 11,000
01 At 22/l 11,000 0 11,000
OFRNM2I AR 22l 11,000, 000& 11,000
202 044l 24,960 0 24,960
01 = LH o4 1l 24,960 0 24,960
OJl2ge =304 (13g) 24,960,000 24,960
203 ¥ S =&l 3,000 0 3,000
04 FEANSEHE=LH| 3,000 0 3,000
ORM2Y L2F&HlI(1521018t)
250,000 122 3,000




